0903l

M
;{JJLJJ}‘V 7

233199 b Y 0 o (g0 3T

\WRA/V/7

(5 Gt (3 gt 3T
120 pols g o 5 SOL ) Pols (miloyT 0g

oot 3% Gl ko 3 DYV 0 sl (3123 52 250 P2 9 i 9 POy PO (il 3T 09 (0908 (1903T (GHlRin! Sz s

gsngG“’Ll O | oyleds B | oyleds 31 | Jlgaw olass GSL'JL"MI dlge

3,
43310 Yo \ Yo ey olostg by |
a3 Y o T Yo ol ¥
ais 10 $o ) Yo el B)les g Siny3 | ¥
aids VA A £ Yo S TN B

0 jlgd Juad o P23k Juad o oS Juad g ol g

I{':\rst.]\:a.,l':.:)) WOBOr o) AT 5 s - ) B Ol g ol

P owys (BF BV i) F g P s - sF ol

§ gugd Y B¥A doic) § 5 18 g - oMl B leo g Sin 3

(FRETY dmic) ¥ g yd (VA BT domiic) P iy - Sl ol

| adilyge 5% JB 5 Gy g gl OS5 50 ! o8 Aalisjlal (28ls gy T Sl eslind gy g 039 s poglha igel Gl S50 4 Blate ] (5t 5 sole By (pales

1A S




8 wlol g ol

fasl ool (ohuwys &7 5515 plad (ghme i35 plas 5o

(adend 15 323) (S juf :CG0>) (pasge :3550) (Lol :oegd) ()

(cdie :ie Jilie) (piato :0bb) ((oizl i o2 )3) (03 :ole,®) (V

Gl 20318 (G 16300 23) (raretanms : JalS) (2ol b)) (F

(25l - 2 81) (Sl 1 28,0) (o 1 jopte) (Sleds :oglyii o) (F

ol ool didigh Cow b ... 435 o 0fly SO L

&5 dasy [ ledl el [ S L 65z 5l 6 pel BBs ioiilaaia [ 50 Gl Juold o i35 ()

55l 105 A A e 33 5155 5 (e Olonl i3l [ol8 e 20l ol el 5 @2 L olye o5 (e s 25 (T
@b o ol [angs o 5l azlas Jasl 5 28, o g T 5 Sgls sl (Shg igo [5] noetem (F

POl (20 3 pedas ol8,08" e [l 5 s ol allis 0y 20,8 (550 b (o 3l oo Ayl i (F

Sawl Cawys ol blis jo 0%lg Wiz L

(3 g B 0319 49 S 57 yad o557 ol () 26 30) (o585 iolosns) (G93000 5 s &) (5331 9 0235 52 23 Ld) (ShusdsS 9 (WO 2rg)
(oS olnid! :aihn) (aighas :aagll) (033105 32 53 356D (e 5 SzsS (sl y2 1 KidsS) (g plle :5SLe)

95 (F S (7 au (Y 5 ()

?@u'c....\n_)ali ojlg plas oSol 333 oo 3
81y 45 25850 (laind il oo Cuo )3 a s ded 9 il o0d G pde I Sl 9> Cario 9 WIS (o83 33 L0 3 E9)0 ples Sho 1Y
€y g Conlgs il & 9 ol (3] (B 3 gl udinds g i Jorle o Sylad 5o Se
ol (v oo (1

foausd (Mol bl oy plas 5o

Clg> o (F &y (¥

s Oy d a8 g ol s o1 510,

515 s S5 45 oo S US5 oS

JUC SR Lo 54 'L])'“’S—? Y0

3) s 34 Ll &5 s o) o) a5 &

Sl e 39, LS 052 55— O
sledoa sl L5 a ST, g0 5 90,5 4o (¥
Joa poy i Lo ym sy e 5L 5 (V
s el 0nS cog ) legs o) 4 (F

foawl oud (o8 2o Cuwyd 4y 35 plaS )5 i 5 4 €l 5 aull o3 BB 4 (59 )lebilwr oS ylolo
SIS s o wlnd g o She el O

Bl ols e o 1 plolo ool (Gagaiems (V

Sl Olebo olamd G (Slo ) Loz (F

S G Ll ol s s,k Sl (F

§0,10 3529 4y 35 pIAS 35 i i 4y € 3unl > 3 Aurli colatnl oLy (glaayl )

@l bl 5 Ly oS 7yl 4 )T 9
Camml (55 90 b oLS g 055 L3 L (giuy a5
To“'¢{ 2)4 ':')—bj
Gl NS (35l 5 o 3 Gommid (i T 51

ool 13T 81y 3

— e ol <z (‘f' e ol = (‘“
(t_és)—? dod ‘\.}“SSQ!)L;) i) ini)] Sy 0)'.3551[ F,J.) }S
(ol i) |y 35 05 oo il of ol a5
e o kiz) 0 sl & s aneS 55
(o Fr D €Il o 3z S L S

B3 ol s 3l el b (ol
29—%e g—ilus 393 (puSed dy bl i 53 (@
39mmsS Tz ymtj 45 il Cid I (g
At d @y Al LS 5 (ST, ) 5t S5 0

Al o o (¥ 0w ez ol ()

el Gy e e olylden lis sleasl,i
el e ol 51, e N L ()
Sy s—ie JleSa Lo a5 b S, 5 (F
KWL S VPR SN S L f DX PRI NI 3 | 3
G 5 | p0 S gl ot o Jde &I (F

-1



8 ool g ol

€9 gt dematt 90 B dt G| s 38 4T Auwgy
olas caol:; ‘I.Tn.....ll.:.‘!. ‘DL&.‘VJ (?

Sl ool Ay 38 plas 0wy éLﬁQ‘)‘i
oo =5 ax L Jo g Loy L8 plo b
L—HmaJL:"PL&Jl‘GA—QJJ“ 3. L.Lu“ 5 ,-M«"(T’

Cogud g0 oy d aly 38 plus yo Wlal Cod )i a4 bl «olgd 9 Cduo (podn cadlBlaor a8 glacjly ki )51

YNSRI | WP U] SV, Y. S | E RPN W
8 gy 4Ly 50 om0 § dmae] A o CJga
Sp——a— W ol Sl ,liSa, ;s
Sg—y aJlgi (sl a3 ols—3 5L (539,

T | R (f - wdll Ua (T‘

Cewla WSale JodaS ,ear S0
el WSSl Jod s ba s S

p—lonl3 00 , S jla W els o

|y 5 a8 S L5 Il e 55 oo 5l o L5

Cile g maa—diS diad 5 @iy Jlw J (!
Pt et )l 39y 03y s Sl (2
A (B (195§ 5 e CmlSS LS 2 (g
plame 0 353 o (39 23S0 limms] s (3
o wdl ez (V S iz v ol ()

f sl diunyly Aloor W31 4y 35 plas

p—pda ol ozs sd oo ula g ()
S e 003 Al 8 50 o2 (T
p—lool s sl 2§,9 pi—Jdo p &L o (V¥
e ol pag— plss o 2ls, Sl (F

Fogli g0 0 (SLSI S 5 g ShuogaS T Wi cuiy 4 g ole o
P AL OIS 31055, g9, 1, aMIEed 5 o5 )3 (yil> a5 o (9381 Hloj Lol oy b 3 G0yl Wiy ol higal (1 oo SO

T - can (F cze ol (F

€Oy G’La.ﬂ' 3 ‘;m.:lf.ﬂ (_gléal.g)‘ l.l b.uui j| Lglo.u. db.nﬁ‘i ¢o|fj.3)| L‘J‘l‘

m_a(T O = s ()

20,10 395 Jambo g duwe (550w Ll e, e bayf den yo

J ’é'\j o;‘ ‘:-OLB l)é_:-)..__:(\
Coojlods o 345 0330 g0 35 Gl (o0 (V

f.__fl .1J AL‘)10 Ac.)'u :\‘"0«

hab Jlese i pstslaple 5 (F

sdal 313 Coy pIAS 33 €53 9 30 5led 593 <EL 31 AT o0 G9! /55 5 o0 3l 5 Sy ol Cowgd (6] E5 g T 9 > oy Jiliie pogie

= o 25 g J—SI

ah aslud qeds 5 4S =T LgLibuL:_: 013

Teaw!
Gdlge oS Swa 5 Al e ()
) Sl dn (a5 A L cay Sl (F
g ol & ol & o cdgs ool (g (¥

Ay oo s o 5 (e g el gl (F

?.DJL.LiC.-..j!ﬁt.‘.‘.‘._.-.!la‘..xfh«mbTJm;,dﬁlb)Li”wBﬂ@uJPwyOR»Cuﬂlsg-u.flay‘.i.n

pl ol S 4o

o? >l 5 5
l)oél_aTQ:.é-g_.Jt_g)l_‘;Cn_.:_a‘_rfl_‘; .Ta_é.?
S 9l 0 g2l ol BB (S5
Lo 59 Lo e, 3l ol bogay

LS b e, S a5 (ly > 51O
ool o3l (35 5l o5 b i (Sas; (7
%;_.JHoa)jol_?)aB_iooLaTl)SH(T’
el 1, a3 JalSe Jame gl ol 2z (F

Flawl oaold oy plas 50 33 @)le bilis popde

€agili cule Jlai G 3l aliod G aF ls g wiled Jaadio 5150 Hle j0 Wl o400

Cle> gmen Slsa 1 les o5 D S aS
J._J).z s_;l_'.'_ﬂ)_ﬂ L"_ﬂd_‘:'jl o)L'.'_...:
oz 3l g pb—= e —3 Al

o ol als o gl po, 5 a o>

el e Fo— § sm—mia—5g5 A ()
(Sr—iatsS A 99, SI o ) el (F
oS> )3 5§55 e G S (T
e 0t (oM puds (s oz dr o (F

-4

_‘e

-1y

-\¥

-\b



= ol

oyl boa = Koo 5500 Jodao
Syl G jolls a5 o 5 HlS GleS 2y y0
=2 ok o ol ob S )0 (Fs0 =) bajie

Ly PRY

o P, g lJ PQT 5 )

€y 3 Ol gt § Al 23 | Sy 31 39
ST asilel gyo e 5 (85 A5 0900 ] 45
oo g on jl wte ol sLT & o
P s Oy S pli = &5
9= Oy S5 ol Sl &5

3,10 aldy «oludy jo
Ohmslr ol el L oS 2l
ae Jals Sop S ol S s Jodod
e e N T
i S a5 L

€Ittt et 0 jgmmld § diid do
o sy o0 45 (G ye el o A,
—looygl 1) 3 2e 008 doi Lo pa_c
St Gl 95 JF 0 AFg s e 57 a5
S e oSl o5 b e e il

fowl Cglaste Con plUS popde
9 955 510,050 ol g2 yells g2 ()
g g8l = s gl a5 Gl (Y
= L 0 obl o e b cdien 5 e (7
e AL g B (F

Flawl 31 Cas pogie W31 aly 35 plus
A= e Olps Jo 5 & R e O
S= Oy =I5 S__le (=T Cn.ul)w" 4.1'_‘)3(\‘
= 5 J.; Jooa 54 STt | |J s (¥

958 Ol cpa s Jo ¢l o e a (F

CbdS aalgty Al 1 g [ gu alrd 45 die J 3,08 oo 425 4 Cas b diy 35 plaS pagie

Sl ol GTa s, Lo a 5 a8 ()
55 P8k ol ol Sl Jala e (Soe5 (F
C.‘_._JL)‘s‘;l_:j‘_rgHBCndal_.ao’s__:(T‘
gl e aa s 5ol 5o, I (F

3515 Culy® 315 Conr b s plaS pogie
s Jo 8 00T Ss fmiis il jB

Sl e e 0 S 32 550 5 ()
olod s S AL B 5 e e 5 La (V
o= pise— = G aeb pls e A (T
LaTogs Le gl cans)y 5 322 L il o (F

€l 0 oS oS s Aala 3l dala j b rluaal) CmqﬁaMaJy&auaJwijumju.J;Jyu@
L.t.ﬁ_usu.n_.ald_.l.:.:.l).) &1)_‘3' ol &lj_?\_i.lu’i)bds;.n_.:l LstL.\.clﬁi:.:._lBl}y e ] WJBLQULMJ])BJ(‘]

le! odgs QL’.‘.}JO Lglo)t-*'

anh el ans o o el il gl T o as ol ladl > G asle gl jgb as asl fre) g les] g8 I (Y

el St 22l K

lowd plas o 8yl 6 osF 4t ol el

o Ayl it conl gt 1o a8 s s iz 45 el Sl smed 5l s Jie ciel s 5 loms] g i (F

oo las o g pslan s

flple 4 el Gl e s P

oS Soliwsl gl c2ils T 4 ces ail o ()

S oy syl ) piails a5 g5z 5l L (F

oS LgJL.‘.‘._";L; ‘..\JLLE ..\5?3‘5@: Q] A S degj.:_?;ﬁ '\

Y S92 ch)LLE 6.‘.‘...11.3 Q]d..; S dSLg)_:_:- )‘l (t

-\

-VA

-4

Yo

-y



0 4=do = ol

i pgle L (O ¢ salas Aon Lgead) B g8 0 Con3 30 CSLan) 3198 Gy

loe! Coen b ol T 4155 45 Al o o 95 1 553 0035 (sl IS5 &5 ks Cengs oS o ol o lolga Takas ()

lowl coew laslys il a4y ols 138 a5 alo e i jgsu oai) | 093 gla IS5 Wi jls cngo a5 sla sale olazeaddle (V

So,ls it Ty cpols 1ae LT a5 ol ad )l cugs i jas o 0033 |y linla IS5 a5 Lo ole oLaliles o o (¥

lewsl Yoo LT (gly o0 95 132 a5 asls o «ijssu 1) olioad) la) IS a3 )ls cusgs a5 Sl cale olazeaddle (F

el Laxie Bl B agS sl (5 8 Y (e (JShiia Ul s clB g1 (20 By,

oo o 15T 1) Lo pugids co cdiS cod oge |y 095 |1, ( Saij 10 a5 S OMISie a5 olBin Syl Lam 0 ()

loosits LT 51 81 o jol dlgs 00 4 |5 L s cod (2ge (S5 jo olo ks, a5 LT cMSes Byl ol (Y

losgits a5 89 cdel penles 5,0 & aias od s 093 Saij po 1) ol ls, a5 Jlus odSlae b oyl Jan o (V

ol as ool oysl aalss 50 an|) Le cazps po i (Sai) jo 1) 043 8 a5 Jlus oMSis lacdy o5 (F
AT

Wpgisie 4B o V) (el alKEY 5 0l 55 Lay Alale i 685 Gl elle

IS como plnlaJie s3lail 4y poye b g (AL 1 les a5 Col g 55 2 ()

S o lilie 55lail &y s poje by Sk oS Jos (055 oo e 4 azsT 4 il 95 (F

Lo oo plglaJie Bjlail 4 52 poye b g (2l Jole (065 o0 azel 4 il g5 (F

o555 e plle Jie Sl & s poye b g (o5 Joe D58 @ a5 cl g 55 (F

Al (e

13,5 alo> Lol )b o 8519,3 do p2loo ol AT gh 1 (B3 8 (e ya (o a2 aalel 138 ()

B (558 (Ko Sl 5igsd o 99 5 S ol 13 58 Lad IS €o i iy ol (G (V

oboles lyol sl J i By o o iiSa b cos o A gial) el sy A sali B el A8 5 Bl (F
193 50

Il g oS Ssbie 158 3o, 25 hele 5145 cazetils tade Call e yua cdlny a8t Alle (F

i) (e

o bz by danjue gla o Lo o L )68 e LUl audtud liaay A yadl g_a,mtﬁ)p._a:g)(\
15,8 comnlazal T jai 5l lygel ils a5 58

s Lol 295 Sy o 1, o148 pals ol 1) oy iligaliils &t ha agilaa (0 50 Lud (23 Eule (¥
laisg 00,5

e oDl a5 218 LS 2l & b el o samall LDl Leasii Aa i () gl 3 Y1 s gliayg (F
lalo 5g5 Jlis 4 |,

S5 58 0y ol pleslils a8 ooy o |y (o5b 5 (slo ASesS Aumall agilin 3 (5 pul Alaaty T 8K Lo pa L (F
lailos 57 Joodi (soew b 09>

1 pSS) Cpal Ll 338y 13 jlad) 038 a ggda B maaial) (pe

655 P 0gtd (S 5 (5,0 1685 51 4 Sl b oo (O

laslons o p sslas Jas Lol cis s wls (F

135 (e 9 B2 lolm 1957 (e 5 9S4z 5 5 (F

1285 e 5l (S5 &5 5 [0 Sl )3 3w o (F

1S a1y T B 0 31 )1 pnoad 335 1y il 5 rmidler

Mlealiad S e jand) alian b Alles 35 s &85 O

ot (S Gl gl () Akl (5 e 34 Y

tealod (5 ) el Y Ahancl 3 o a1

Nealal 3 el Hndl doa ) Albanall 5yl 34T (F

-y

-Y¥

-Yb

-Y#

-Ty

-TA

-¥



¥ axmio = ol

sclajial) o Uadd) e

182a) g Askaia 83 yaall ¢35 S Al (e de gena ;Z_E:.J‘. QO
1 DAY il gual) Sl il goall Glag dda - g i) (V
A4S Y oo g i) (¥

Taadl) 5 S 8 jlaad Auzaly ) e Dlall a8 22 g3 S 2oyl (F
S ) bz A Ul (e

I jlia b8 2l KL Cd i (e 4800 028 ()

IO aaiin ALl (g | s2ay & 538 Y1 () 003U (Y

1 daalaall § sang an 585104l (e ) Jall oW 50 Jaids (¥
(S (e S gt LBl &) Lkt 8301 5 e L (F

s)\AJ Ls'uﬁu..\&hl’lu.nu}ﬁ subd)hmszﬁﬂw(dbi =) éjlﬂ'l d.thJ'.‘_,sLdL-;«t_\.\» s
288 Cad s Uy s el el (a0 C.n& glaa 34 ;«d.dS‘x’ JFh i otai «*‘.J.U.l Jilayy saliod
) iy 4l B g adid aaS Al o S o ) (e lad cud ot b Y Jla Gadica ke (el
A Al JLB g ) ) laa el Axie (5 gdal) Gildall ) Sl ta cnd) e ) aa Ja ol as e
Mg 3 1laly slan dlald (§(«iehy dda) Jiudl) 3 US G @lld 38 ol sy s ibad) Alale celibe)
e A Ul g dltha A Jas

:(adl) o s Gma.“ (e

li.;l.ul‘u Cre laa €8 gy IS Jaadl Jamﬁ‘ O

loe) e 2l Ja 3l Gl s i dlad) 8 (Y

lpse olid) e i laa 50 o1 (V

liac bt s a8 s il Js 5l s (F

gl (e

Il Adaad £ 8 e e 05 o (F Rl jaldaiy IS s ca b 3k 631 ()

Tl Ca ey Lo 39 e Y@l (e s 30 Al (F Jaia i aald dand Stee Jid) Ja 5l Jsd (v
shadaal) clalsll () e Jaal) (e Uadd) cpe

J gmia zella (F Jeld i (v Jsmia 15 (¥ BEGIWENY

_Y.

-

Yy

Yy

¥

(V7 578) Ayl sl 5ol oY) A malall (e um

sl

Wy Adeld g Jad [a glaa - («dadily ()9 o) (SO0 2 Ja- QilallL yala Ja8 ()

e yecmaleld 5 Jad /(«liilly o yuas) S & je - ch Al b - ARl (Y
igiaa aleld 5 Jad /08 ja Bal 5 (SO0 N G- s - ke Jad (7

Alad dlos aleld a2 /o glaa - («Jlxily ()5 Slo o prme) SO0 2 e - A0l (F

¢ =Yy

Sl Gan ysma fastadn () e - 83 - 3 e - aud O

853 Caa g dlea (eI 3Ly 5 55 e 5 s oY) Gy Al jaa - Juadill anl - 8303 e (Y
W Gy s e 555 - Kie s i s Jadly O s le sran - aul (7

Glla dlaa AV B U 5 e 5 o « oY) By /8 -2 jie - Jb Glra - Juadill aul (F

ta

R



Y amio oMl O jlao 5 Ko 3

s ) B JaBY) (e g gk ol 5 e e YV
Lol il 48 7 iy e (Simad (¥ 10yl sma o g3all g 53 0 ()
Tadedla 3 05 iy O e Lie Uik (S (F ldie ) ja Jpnalae dmny #36 & ) o (7
st ) e b Lgtiad ) clal€1 § S g 4d pal) 8 Ll 4 La YA
(b G ale) Jian w385 fuabladl ey o sl Ja 7l e (O
(585 b i) 12 OIS O 5 el BB (Y
(Ul me ) Ay gl B0 3y 21 51 7
(b Tma cple) bl a5 51 o sl (F
slaa diual) g Jlad) Lgd pla B e (e 1]
Bin gl ASans Lelasi L) o e 6 pial) B Lovie ()
Nena s b 5a e G @l Slawl) e (e Lo DI A (¥
1daas Cigomy iy 98 5 3 all (G Jamy 238 il (F
s A panll (a8 15 ym LB (e Lasll) 8 0 (F
iy ) gl cilal€ Jga Wl e ¥
1555 awsl Chmy Jad ¢ 13a Juaad | jlaie dadall 8 sl ()
Ba Al 4lold pe Jad ¢ 1o lalie LA Ul gAliaad) 5 8 8 Jlad) aa 428 Sl (v
198 jae a3 8 O g2 5050l ¢ ASCL) 03¢y g graat Ay 1) e 3150 (T
155L8) sl Jobag 48 (Jhy <= B s S (il i3 el (Ale Gl (F
Ml B jlae g Sy
1m0 3 loter §RoAm g (gmailasl 4z 517y sl Y38 L) 47 e 541 e oailsE S Uid Ly Eamarls 3 (koo las —F
Saglonyn 1y 995 JolSi sams ol cruils
o slad - Jslae 5 e (¥ ! a8 - Jslee 5 e ()
sl glad - cle g Jslaa (F sl padi - e g Jolae (F
fowl ol 3l (Sl ad b &yl plas ply 5 Conl Cdus plas S0l opese (aoeds (o 5 0 5y cowlin diej slm] —FY
§ g ST, clae O Loy ST elloe opp e Vpm 5 ¥ n 2es NSH - gl ple olol O
e S35 elee 0I5 Ly ST elee e Yen 5 Yo s NiSH - ! Lol sl (F
Lopmmeedl ol ) 3y W vgiiagd b panle ) g - gl ple ool (
foimmeed) ad Al D 5 U ghigd Wb pdale ) g3 - gl ols Sl (F
1335 g0 potde 4T plaS )3 B I il Gl &1 Wiglas  Siduwan Jadi (ol Catgr) ogid b dlox ply —FY
£ Gl 1des 01 1S 0 o) el el (O
€SS, elae n eV g e ¥pe Js VS (Y
«. .. O s0all if:fﬁfu J}J Lsb» (¥
g el ie as sl b e (F
sz of e 9 Conz oUS 50 b §,€ 5 oI 31 8 (1,5 4y 0 LT Gallae —FF

) 1ol - g 545 Oy (F €Ll 1o p — €oppr Dlis oy O
#1508 ST g - e S Ol (F 1538 S g3 - fmer Olie gl (7



A amivo oMl O jlao 5 Ko 3

Py iy Mol w53 418 ) Gaplul (o3 1 (il y950e 9 63U8 )5 Jole gsle uleyd Gallae
Bglas _Bgs00 5 — Wglat sl ple] (¥ Bglas Bgy03,s = LS om0 L2al58l (O
Py mbin m wglaz oo Slea! (F Py aliw - LS m a5 2ol (Y
Sy 308 3 Jplrn € p)Y1 3 closdl oo OIS 3 oaale Uiy ady b s

€O\ peadl TS & jay s L (¥ £53, ;Uapy;"l‘}a};\!}nlagkf}@(\
58 5 |l A Jal B J g (F € U8 O gl Julp

£,19 (o 4398z 42 0Ll 3 93,8 o il pogdn plaS of .. Lo oot Ld Igaler ol g cats 0 4T 51

ple = Sy dualie 4y Lol 5SS &5 05l o0 palyd | Slol 5 Ll wiglas ()

ol - sy dale & gLl 580 a5 05l e ol 1) Gl g Ll 5 aiglas (Y

ple - was oo L plp daz 1) S5 Joe Wglas (¥

ol - a5 e L iy i ) S Jes adglas (F

Tz OIols palu g 0j9) 5 3les aulf 5 3,1 b slagyald 51 SuplaS &y o)Ll v wase Jo pSY D) o>
Coas - o Vs (F 0 CoVso omme Vs (7 cu¥s— g0l oYy (¢ e ol Y5 (O
pus A2l 330 51 il il 5 €ARD g0 (arBld 1) 531 Cunuas (oS Az 4T Consl s yp 0t &4 Easly Kl 4k 50 & plas
fwl cdluy gyals plas ;0 Cwuac

033 3l AW o San Wi3p (3 i) 3l E A G Snan D3 O

033 gl - gl fao o el D (F ol gels L b, oy o el iy ¥

St oasel lobina 3ué 1y LS 4z (58 0,51 sl 5 o lilabis Sl S o35 Jale (ylilabune o yiden doliy 53
Y VE SR U - PR R PR L g PYN PR P Pl N IO CR S

5y il olsmols ol o Slesllae )b = o glasls g, (¥

ASS e lleks Sasg dai> o - liledis s Siasg (V

LSS oW lleds Saz>g Lad> jo - 385 glasl ol (F

Sz Sgelb 335 (3353 5 )31 5 SataS> 3550 33 o3l g oles! Cadgiions? (3 Ayl SLT s a5 b

$oelall J 1 paS oz O Oatpp (¥ S5 o dl by S 51 s (O

fan Yoo gl o ollanidl 3 (F Sa dgiS of 1y el 6 g (v

33,5 o0 pode Cudlal g Sl 51 SHpMS o cds 3l () e ol Cusas

<oy T ol e (F Vs &l 2die Soas ()

et &1 i e (F et &1 e cgas (¥

do3¥ g Comwl ] plaS Jg5ui ym padie S i SLbL g gauls o 511, obT ciiwd oo cos Jol plal Llus» oles o)lie
“Cany (#) yooly il

Colae yal 55 (50 Soyd g Slenty - ks LT()

Colae el )3 509 o5 g Slezs - S AT (Y

oLzl g oLF 5l Comae g JolS e = LI &T (Y

oLzdl g ol 5l caaas g JalS ple - ek 4T (F

oS ol plol (S35 1S 5 wlxilgo ($) 551 salyy 3 oy Culid pglai (gl yuy (28 pIS My &3 Ol (a5 5 (GLAH
Sl ga (S Woylundl (13 oo pusele

e - (#5) p51 ey 5 18 58 0

oz - (#8) 0,51 sl 5 51,3 S8 (¥

cdlae = Lyl 5 ey (#8571 el BlFan glacstus slos HLL (7

Ceoaie = L) 5 ey (#) 57 el BlFan glacestos plos oL (F

¥d

4

-Fv

~FA

~f4

_ae

-0

-oy

-y

-OF



q axmio PN L] N Py

ol 5 Ja3m 31 dmmy w57 & GRD) (oo &y 43 0030 ULE 5 S g () 105 Jgusy ol 5 il 3 0330 508 BB
Sl GRR) ol & pid shnibilr 43 by yo Colol 5 ST 5 Ssplas
Ol S - ygdar 4T (Y RO Cga> - yephai HT()
Oel ua _ cu¥y &l (F R Soas - ¥y 4T (Y

Clilen ol Couo 3 05T (goui Cous plas -0F

$30  ea Sy Slllal) e 5 1l A O1 (F e oL 5 O e e (Y
(H85) 151 yrolgy (5500 Slar 51 SIS &1 a5 42 0305085 531 SDlo 1y 39,9 3 €] (Glalesd 5 035 Sluani Jlho 9 -BY
9340 0,Lil

Sxln s e o)l sl W - sl s Sdlas 685 Sl O
Sxlp g clae )8 sln - poye Zolaa 3 (g5emdo 5 (BT (V
Soegyee 3 88 Lol g pln g Sdlas )80 sl OB (T
Soag e 5 88 Loj L — po e Zulae )5 (55uds 5 (HeSEse (F
5523 15 b 1L 55 il S Blaslonads 3 gy @S 1 s 45 (g sl 039 ol on 4 iy gt A
Seal (#8) 0,51 yaly & yns
poye bllae g Somma (F Sxlng e g3 n ¢l 6O
Soeg e 3 588 Loj lea (F poye Sla 43 (ghgeds (7
=239 b 85 3590 (1) 9 8545 o0 aBo (Ll (Pud Corzye b b ye jael )0 BRD) (e plol CumMo 5 ady il jlis plas O]
Sl 3T A1 pggie SUUS s 57 o0 631 Con GRR) ole plol s (#) 0,51 yuolyy bawgs
§Sts @b Sl - s g ST 5 ST o sn O
W )y ) gy O - il o Ll o) i (Y
dlol ey ol Ll bl D« e & oLl 4 Sl R\l
day o on Sl - gl e Lesls ) sbl by (€
Siol5 on (6 y9iusd 4% 355 il & ey &1 (b 3335 50 p3 30 paiize Silole slowel (gl () o5 yualy -5

S5 555kl 05 ] e sl ( il anils cepdle 5 5 )bo ()
Sl g, e Slas glizl o (F A e 055 5l Ghlse 5 (8 (F

PART A: Grammar and Vocabulary
Directions: Questions 61-68 are incomplete sentences. Beneath each sentence you will see four

words or phrases, marked (1), (2), (3), or (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

61- She’s not very good at ......... chess, so she kept ......... .
1) playing — lost 2) played — losing
3) played — has lost 4) playing — losing
62- This is the book ......... John is interested so much and can’t stop reading it again.
1) in that 2) to which 3) of which 4) in which
63- You should tell your mother exactly what happened. IfI ......... you, I would tell her the truth
as soon as possible.
1) have been 2) was 3) am 4) were

64- Usually when you call a talk show to express your opinion on something, they take your phone
number and ......... .

1) look back 2) call back 3) give back 4) go back
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65-

66-

67-

68-

69-

70-

71-

72-

As a result of their dependence on drugs, a person living with a drug addiction for a long

period of time may begin fo ......... a number of serious mental problems.
1) prevent 2) describe
3) suggest 4) experience

Jack had a very successful business in New York and was earning lots of money there, but
suddenly he decided to move to Canada ......... .

1) for one good reason 2) for none good reasons

3) for no good reason 4) for all good reason

He believed that acquired habits could be ......... from one generation to another.

1) converted 2) reproduced

3) transmitted 4) surrounded

Hearing ......... is the third most common health problem in the United States, and it can
affect the quality of your life and relationships.

1) colony 2) aid 3) infection 4) loss

PART B: Cloze Test

Directions: Questions 69-72 are related to the following passage. Read the passage and decide
which choice (1), (2), (3) or (4) best fits each space. Then mark your answer sheet.

For the generation (69)......... before 1946 getting used to computers and the Internet has
been a big challenge. Several cities across the country have started to offer new programs for
senior citizens to teach them (70)......... Web skills. “At first, (71)......... it,” says Agnes
Stein, a 78-year-old student at the Wayne Senior Center In Orrville, Ohio. “But now I can
easily look up whatever information I'm curious about.” The number of seniors online is
(72)......... growing. In 2005, only five percent of senior citizens had Internet access in their
homes, but as of 2009, the number had gone up to 30 percent. In fact, some seniors have
become famous around the world for their use of the Internet.

1) were born 2) have born 3) who were born 4) who have born
1) elementary 2) expanded 3) imaginary 4) advanced

1) if I wondered I would like 2) I'd like to wonder about

3) I wondered if I would like 4) 1f I liked it I'd wonder about

1) originally 2) wisely 3) increasingly 4) accidentally
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PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

Passage 1:

If you are like most people, your intelligence varies from season to season. You are probably
a lot sharper in the spring than you are at any other time of year. A noted scientist, Ellsworth
Huntington (1876-1976), concluded from other men’s work and his own among people in
different climates that climate and temperature have a clear effect on our mental abilities.

He found that cool weather i1s much more favorable for creative thinking than is summer
heat. This does not mean that all people are less intelligent in the summer than they are
during the rest of the year. It does mean, however, that the mental abilities of large numbers
of people tend to be the lowest in summer.

Sprmg appears to be the best period of the year for thinking. One reason may be that in
the spring man’s mental abilities are affected by the same factors that bring about great
changes in all nature.

Fall is the next best season, then winter. As for summer, it seems to be a good time to take
a long vacation from thinking.

Ellsworth Huntington decided that climate and temperature have ......... .
1) a great effect on most people’s intelligence

2) some effect on everyone’s intelligence

3) no effect on most people’s intelligence

4) some effect on a few people’s intelligence

It seems that the cold of winter ......... .

1) 1s the best time for thinking

2) decreases the ability to think

3) increase the ability to think

4) 1s better for thinking than is very hot weather
The two best seasons for thinking seem to be .........

1) fall and winter 2) spnng and fall

3) winter and summer 4) summer and spring
According to the passage, any vacations from thinking should be taken ......... .
1) during summer 2) during spring and fall

3) as seldom as possible 4) several times throughout the year
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Passage 2:

The climate of a region can be said to be its average weather. A description of the climate
will give you an idea of what weather to expect at any time of year.

In many parts of the world, especially western Europe, the United States, and parts of
tropical Africa, the pattern of weather changes a great deal from year to year. For that reason
it is generally believed that temperature as well as other things such as wind, air pressure,
and humidity (which is the amount of moisture in the air) ought to be measured every day
for at least 30 years before the averages are reliable enough to give a proper idea of climate.
Even then, the climate of one 30-year period can be quite different from another 30-year
period. In fact, just as the weather tends to change from day to day and from week to week,
so the climate tends to change from decade to decade and from century to century.

Thousands of years ago the Greeks knew that the parts of the world toward the equator
were hot, the parts toward the poles cold, and the parts in between neither hot nor cold. They
spoke of broad divisions of the world which are still sometimes used today: the torrid (hot)
zone; the frigid (cold) zone; and the temperate (moderate) zone.

Even within these zones, climate varies tremendously and in a large country such as
Australia or the United States there is a great deal of difference between one part and
another. For example, Tasmania i1s cool wet while the center of Australia is hot and dry;
California 1s sunny and warm while New York is very cold in winter but hot in summer.

The passage is mainly about ......... .

1) the climate of a special region

2) the climate of western Europe

3) the definition of the climate in general

4) the United States and parts of tropical Africa

Which sentence is NOT correct according to the passage?

1) the climate of a region can be said to be its average weather.

2) the many parts of the world, the pattern of weather changes a great deal form year to year.

3) A description of the climate will give you an idea of what weather to expect at any time
of year.

4) the climate of one 30-year period is the same as another 30-year period.

The pronoun “its” in the first line refers to ......... .

1) climate 2) region 3) idea 4) weather

The word “tremendously” in the last paragraph means ......... .

1) mainly 2) mostly 3) strongly 4) greatly



